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THREERREEDIEEDERICHERSIEE (%K 3) (1/1)
TREOBBILYREYOM EIIERTS | LEEORBICIVEENOM EHICERTS TREOBBILYREYOM EIMICERTS | LEZORRBICSVEBEYOM EHICERTS
LEEEND N LEESND N LHEESNDH LREIND S
LA BE) B - LEED BE) B o
HETRROER |00 m% 2 2K RETRROE™A |1 o0kn/m 5182 515
AOKRES| tR%E |NOXES| +HZE |HOAES| +t7F% |HhoKEE| +7% NOKRES| tR%E [NOXES| 1+HZE |HOXES| +t7F% |HOKEE| +7%
DI3LRK| nEE |O3BRK| oz |O3BBRK| oz |0BBA| OB DI3LRK| nZE |O3BRK| oz |O3BBRA| osE |0BBEA| 0B
nLO nLO nLO nLO nLO nLO nLO nLO
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 121.61 100 | 10000 | 1.00 - - 12.01 2.24
2 ~ 3 11874 | 100 | 10000 | 1.00 - - 11.53 2.15
3 ~ 4 11365 | 1.00 | 10000 | 1.00 - - 11.42 213
4 ~ 5 10453 | 1.00 | 10000 | 1.00 - - 11.67 2.18
5 ~ 6 10144 | 100 | 10000 | 1.00 - - 11.67 2.18
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